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Slope Review

Dictermine the slope of this line scgment.
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. Determine the slope of the line that passes thwough (9,01 and (15, 27)
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. The slopes of two lines are

L ‘ . The zlopes af two lines are ~2 and -1/2. Are the two lines parallel, perpendiclar,

. Complete the chart:
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W and-11/6 . Are the two lines ||.|ri|||:_-|.CE‘._;:.'|1C:|:]JulI|i1_r)!|_'r neither?
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| Equation
a) y=dy 2

by y=5x-2

Y=-5x+L
c) 2y=3=fx-5+73
= = kX =

d) Iy+1)=2%x+9
yrz =24+973
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e) 12y +2=2x+|
=4y +2 4
H=4Hx -2
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} The slope of a horizontal line is v
- B} The perpendicular slope to 5 is =
: ]

=

Determine the sfope and the y-intercept for the graph of this equation: 16x <+ 2 _.:\_‘y
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1) The slope parallel to the x-axis is /i ; 4|
| The slope perpendicular to the x-axis is ’ glf_rr_’,l
c) The slope of a vertical line is Yo == ®
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Determine the slope parallel to 3( 2y — [)= 12x + 3 |_C|_'-§ = 2
"’j“Sﬂlx 73 il =14
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Determine the slope perpendicular to Iy —4 = 8x + 5
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A line passes through points (3, 6k) and (-3, 4k, 1 the slope ,Q ._;-.-:;.. cular o | ;
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1(4k—Li)= =3 == “3}
Hic-Lk= +9 + 15
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is the slope of line REY

is the parallel slope?
1% the perpendicular slope?
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